Rzut pietra
1:100
2661
169 118 173 96 156 96 142 96 175 96 148 102 101 252 102 172
1 1 1 1 1 ] ] 1 1 1 1 1 1
S
<>
~
+[1.94 1)1 &
[10,10 | meska
@
55 263 7, 3165 E 014 157, 5 2| & —
[ zamm
8 +(4,03 8
? S
’ —
* [50.2 | « )
a o & R
405
2
5
S
(=3 a0
J %g S i
— = £
+]3,88 R
= 29%) o N
I = [ |
N [ 1 ] J olg R —I
Y 5159
9 o
: = |l be g F
1y . +|3,88 4383t R
Qp‘ Q - 200 90 =
= o 8 20 =
)
— “ _
80 x
200 [l_,—
g — 1 @
80, R
~ 200 ~
3
[ al ]
R 55 262 s 404 5 20 s 28 3% ] 331 0] R 50
45 o ~ < AQ
1/11 [pziot gosp. lesn. 1/12[Dziot gospodarki lednej |f |[1/13[Spec. SL ds. = Posterunek Inzynierowie 0
25,74 spec. ds. ochr. lasu 13,4 |Spec.SL ds hodowli|lasu | |[ 7,9 Jgospodarki drewnem 17,0 |strazy lesnej | 15.50| nadzoru
+[1.94
i
N
Q
l n: | s | <
b o
153 | m3 | 89 | m3 | 8 | m3 | 160 | m | 925 | L | m2 | | n7 2825 377
2661




